Mathematics – Grade 8

Curriculum Development and School Improvement- Secondary

MA.8.A.1.5 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. The graph below shows the linear relationships between total food sales at a Miami Hurricane home football game and the amount the stadium spent on food and drinks. 
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Which equation best represents the relationship shown in the graph? 
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2. The table below shows how much Eric pays to rent video games for his PS-2.
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Which of the following expressions can be used to find the total cost of renting any number of games?
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3. A Little League Baseball coach told his team that practice helps them win games.  He showed the team a chart that he created based on last year’s season.    The team had won 3 games before they actually had their first practice.  Then throughout the season, they practiced once a week while games were played on different days.
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Which equation best represents the relationships shown in the graph above?
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4. The equation 
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games of mini golf played at Boomers.  Which table contains values that satisfy this equation?
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5.  Mary takes piano lessons every Thursday afternoon.  The piano teacher charges $17.50 per hour plus $6.50 travel expenses to pay for her gasoline.  The table below shows the hourly rate of the lessons.
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Which of the following equations represents how much Mary will pay for 
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hours of piano lessons?
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